



Degenerate Moments and Expectation of Monomials

Dae San Kim¹, Taekyun Kim², Wonjoo Kim³, Jongkyum Kwon^{4,*}
Hyunseok Lee^{2,*}

¹ Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea

² Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

³ Department of Applied Mathematics, Kyung Hee University, Yongin-si 17104, Republic of Korea

⁴ Department of Mathematics Education, Gyeongsang National University, Jinju, 52828, Republic of Korea

Abstract. The aim of this paper is twofold. Firstly, we obtain expressions of the degenerate moments of a discrete nonnegative integer-valued random variable. Secondly, we get an expression for the expectation of any monomial in discrete nonnegative integer-valued random variables.

2020 Mathematics Subject Classifications: 60-08, 60E0

Key Words and Phrases: Degenerate moments, expectation of monomials, discrete nonnegative integer-valued random variables

1. Introduction

Let X be a discrete nonnegative integer-valued random variable. Then the probability mass function on X is defined by $p_X(x) = P\{X = x\}$. Oftentimes, we omit X from $p_X(x)$ and denote it simply by $p(x)$. This convention applies to other similar situations. The cumulative distribution function on X is given by: for any nonnegative integer a ,

$$F_X(a) = P\{X \leq a\} = \sum_{x=0}^a p(x) = \sum_{x=0}^a P\{X = x\}, \quad (\text{see [8–12, 14–19, 22, 23]}). \quad (1)$$

Let $g(x)$ be a real valued function. Then the expectation of $g(X)$ is given by

$$E[g(X)] = \sum_{x=0}^{\infty} g(x)p_X(x) = \sum_{x=0}^{\infty} g(x)P\{X = x\}, \quad (\text{see [5, 8–12, 14–19, 22, 23]}). \quad (2)$$

*Corresponding author.

*Corresponding author.

DOI: <https://doi.org/10.29020/nybg.ejpam.v17i4.5604>

Email addresses: dskim@sogang.ac.kr (D. S. Kim), tkkim@kw.ac.kr (T. Kim),
wjookim@khu.ac.kr (W. Kim), mathkjk26@gnu.ac.kr (J. Kwon), luciasconstant@kw.ac.kr (H. Lee)

The n -th moment of X is defined by

$$E[X^n] = \sum_{k=0}^{\infty} k^n p(k) = \sum_{k=0}^{\infty} k^n P\{X = k\}, \quad (\text{see [17–19, 22, 23]}). \quad (3)$$

The variance of X is given by

$$\text{Var}(X) = E[(X - E[X])^2] = E[X^2] - (E[X])^2, \quad (\text{see [23]}). \quad (4)$$

Let X and Y be discrete nonnegative integer-valued random variables. Then the joint probability mass function of X and Y is defined by

$$p(x, y) = P\{X = x, Y = y\}, \quad (\text{see [4, 23]}). \quad (5)$$

We note that

$$P\{X = x|Y = y\} = \frac{P\{X = x, Y = y\}}{P\{Y = y\}}, \quad (\text{see [23]}). \quad (6)$$

Thus, by (5) and (6), we get

$$p(x, y) = P\{X = x|Y = y\}P\{Y = y\}. \quad (7)$$

Let $p_X(x)$ and $p_Y(y)$ be respectively the probability mass function of X and that of Y . Then we have

$$\begin{aligned} p_X(x) &= \sum_y P\{X = x, Y = y\} = \sum_y p(x, y), \\ p_Y(y) &= \sum_x P\{X = x, Y = y\} = \sum_x p(x, y). \end{aligned} \quad (8)$$

The joint cumulative distribution function of X and Y is defined by: for any nonnegative integers a and b ,

$$F_{X,Y}(a, b) = P\{X \leq a, Y \leq b\} = \sum_{y=0}^b \sum_{x=0}^a p(x, y). \quad (9)$$

By (7), we get

$$\begin{aligned} F_X(a) &= P\{X \leq a\} = P\{X \leq a, Y \leq \infty\} = F_{X,Y}(a, \infty), \\ F_Y(b) &= P\{Y \leq b\} = P\{X \leq \infty, Y \leq b\} = F_{X,Y}(\infty, b). \end{aligned} \quad (10)$$

For any $\lambda \in \mathbb{R}$, the degenerate falling factorial sequence is defined by (see [8, 12, 14, 15, 17, 18, 21, 27])

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x - \lambda)(x - 2\lambda) \cdots (x - (n - 1)\lambda), \quad (n \geq 1). \quad (11)$$

With the notation in (11), we note that the degenerate exponentials are given by

$$e_\lambda^x(t) = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [12, 14–18]}). \quad (12)$$

We see that

$$\lim_{\lambda \rightarrow 0} (x)_{n,\lambda} = x^n, \quad \lim_{\lambda \rightarrow 0} e_\lambda^x(t) = e^{xt}.$$

The generating function of the degenerate moments $E[(X)_{n,\lambda}]$ of the random variable X is given by

$$E[e_\lambda^X(t)] = \sum_{n=0}^{\infty} E[(X)_{n,\lambda}] \frac{t^n}{n!}, \quad (\text{see [12, 14–18]}).$$

In Section 1, we recall some necessary facts that are needed throughout this paper. Section 2 contains the main results of this paper. Let X be a discrete nonnegative integer-valued random variable. Then we obtain expressions for the r -th degenerate moment $E[(X)_{r,\lambda}]$ (see (11)) as infinite series involving the cumulative distribution function F_X (see (1)) in Theorems 2.1 and 2.3. Assume that X, Y are discrete nonnegative integer-valued random variables. In Theorem 2.2, we show that $E[XY]$ is equal to the double sum over x, y of $T(x, y)$, where $T(x, y) = P\{X > x, Y > y\}$. In Theorem 2.4, this is generalized to the case of $E[X^{r_1}Y^{r_2}]$, where r_1, r_2 are any positive integers. Let r_1, r_2, \dots, r_k be positive integers, and let X_1, X_2, \dots, X_k be discrete nonnegative integer-valued random variables. In Theorem 2.5, we get an expression for $E[X_1^{r_1}X_2^{r_2} \cdots X_k^{r_k}]$ as a multiple sum over x_1, x_2, \dots, x_k , which involves $T(x_1, x_2, \dots, x_k)$. Here $T(x_1, x_2, \dots, x_k) = P\{X_1 > x_1, X_2 > x_2, \dots, X_k > x_k\}$.

2. Degenerate moments and expectation of monomials

For $r \in \mathbb{N}$, the r -th degenerate moment of X is given by

$$\begin{aligned} E[(X)_{r,\lambda}] &= \sum_{x=0}^{\infty} p_X(x)(x)_{r,\lambda} = \sum_{x=1}^{\infty} p_X(x)(x)_{r,\lambda} = \sum_{x=0}^{\infty} p_X(x+1)(x+1)_{r,\lambda} \tag{13} \\ &= \sum_{x=0}^{\infty} p_X(x+1) \sum_{i=0}^x \left((i+1)_{r,\lambda} - (i)_{r,\lambda} \right) = \sum_{i=0}^{\infty} \left((i+1)_{r,\lambda} - (i)_{r,\lambda} \right) \sum_{x=i}^{\infty} p_X(x+1) \\ &= \sum_{i=0}^{\infty} \left((i+1)_{r,\lambda} - (i)_{r,\lambda} \right) P\{X > i\} = \sum_{i=0}^{\infty} \left((i+1)_{r,\lambda} - (i)_{r,\lambda} \right) \left(1 - P\{X \leq i\} \right) \\ &= \sum_{i=0}^{\infty} \left((i+1)_{r,\lambda} - (i)_{r,\lambda} \right) \left(1 - F_X(i) \right). \end{aligned}$$

Therefore, by (13), we obtain the following theorem.

Theorem 1. *Let r be a positive integer, and let X be a discrete nonnegative integer-valued random variable. Then the r -th degenerate moment of X is given by*

$$E[(X)_{r,\lambda}] = \sum_{i=0}^{\infty} \left((i+1)_{r,\lambda} - (i)_{r,\lambda} \right) \left(1 - F_X(i) \right). \tag{14}$$

Note that, when $r = 1$, we have

$$E[X] = \sum_{i=0}^{\infty} (1 - F_X(i)) = \sum_{i=0}^{\infty} P\{X > i\}.$$

Assume that X and Y are discrete nonnegative integer-valued random variables with their respective probability density functions $p_X(x)$ and $p_Y(y)$. Let $T(x, y) = P\{X > x, Y > y\}$, and let $p(x, y)$ be the joint probability mass function of X and Y . Now, we observe that

$$\begin{aligned} E[XY] &= \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} xyp(x, y) = \sum_{x=1}^{\infty} \sum_{y=1}^{\infty} xyp(x, y) & (15) \\ &= \sum_{x=1}^{\infty} \sum_{y=1}^{\infty} \sum_{i=1}^x \sum_{j=1}^y p(x, y) = \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \sum_{x=i}^{\infty} \sum_{y=j}^{\infty} p(x, y) \\ &= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} \sum_{x=i+1}^{\infty} \sum_{y=j+1}^{\infty} p(x, y) = \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} P\{X > i, Y > j\} \\ &= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} T(i, j) = \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} T(x, y). \end{aligned}$$

Therefore, by (15), we obtain the following theorem.

Theorem 2. *Let X and Y be discrete nonnegative integer-valued random variables. Then we have*

$$E[XY] = \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} T(x, y),$$

where $T(x, y) = P\{X > x, Y > y\}$.

If X and Y are independent, then we note that

$$E[XY] = E[X]E[Y] = \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} xyp_X(x)p_Y(y).$$

Note that

$$\begin{aligned} (i + 1)_{r,\lambda} - (i)_{r,\lambda} &= \sum_{j=0}^r \binom{r}{j} (i)_{r-j,\lambda}(1)_{j,\lambda} - (i)_{r,\lambda} & (16) \\ &= \sum_{j=1}^r \binom{r}{j} (i)_{r-j,\lambda}(1)_{j,\lambda}, \quad (r \geq 1). \end{aligned}$$

Thus, by (14) and (16), we get

$$E[(X)_{r,\lambda}] = \sum_{i=0}^{\infty} ((i + 1)_{r,\lambda} - (i)_{r,\lambda})(1 - F_X(i)) \tag{17}$$

$$\begin{aligned}
 &= \sum_{i=0}^{\infty} \sum_{j=1}^r \binom{r}{j} (i)_{r-j,\lambda}(1)_{j,\lambda} (1 - F_X(i)) \\
 &= \sum_{i=0}^{\infty} \sum_{j=0}^{r-1} \binom{r}{j+1} (i)_{r-1-j,\lambda}(1)_{j+1,\lambda} (1 - F_X(i)).
 \end{aligned}$$

Therefore, by (17), we obtain the following theorem.

Theorem 3. *Let r be a positive integer, and let X be a discrete nonnegative integer-valued random variable. Then the r -th degenerate moment of X is given by*

$$E[(X)_{r,\lambda}] = \sum_{i=0}^{\infty} \sum_{j=0}^{r-1} \binom{r}{j+1} (i)_{r-1-j,\lambda}(1)_{j+1,\lambda} (1 - F_X(i)).$$

Assume that X, Y are discrete nonnegative integer-valued random variables. Let r_1, r_2 be positive integers. Then we have

$$\begin{aligned}
 E[X^{r_1}Y^{r_2}] &= \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} x^{r_1}y^{r_2}p(x, y) = \sum_{x=1}^{\infty} \sum_{y=1}^{\infty} x^{r_1}y^{r_2}p(x, y) \tag{18} \\
 &= \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} (x+1)^{r_1}(y+1)^{r_2}p(x+1, y+1) \\
 &= \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} \sum_{i=0}^x ((i+1)^{r_1} - i^{r_1}) \sum_{j=0}^y ((j+1)^{r_2} - j^{r_2}) p(x+1, y+1) \\
 &= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} ((i+1)^{r_1} - i^{r_1}) ((j+1)^{r_2} - j^{r_2}) \sum_{x=i}^{\infty} \sum_{y=j}^{\infty} p(x+1, y+1) \\
 &= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} ((i+1)^{r_1} - i^{r_1}) ((j+1)^{r_2} - j^{r_2}) P\{X > i, Y > j\} \\
 &= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} ((i+1)^{r_1} - i^{r_1}) ((j+1)^{r_2} - j^{r_2}) T(i, j) \\
 &= \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} ((x+1)^{r_1} - x^{r_1}) ((y+1)^{r_2} - y^{r_2}) T(x, y).
 \end{aligned}$$

Therefore, by (18), we obtain the following theorem.

Theorem 4. *Let r_1, r_2 be positive integers, and let X, Y be discrete nonnegative integer-valued random variables. Then we have*

$$E[X^{r_1}Y^{r_2}] = \sum_{x=0}^{\infty} \sum_{y=0}^{\infty} ((x+1)^{r_1} - x^{r_1}) ((y+1)^{r_2} - y^{r_2}) T(x, y),$$

where $T(x, y) = P\{X > x, Y > y\}$.

Assume that X_1, X_2, \dots, X_k are discrete nonnegative integer-valued random variables. The joint probability mass function of X_1, X_2, \dots, X_k is defined by

$$p(x_1, x_2, \dots, x_k) = P\{X_1 = x_1, X_2 = x_2, \dots, X_k = x_k\}. \tag{19}$$

The joint cumulative distribution function of X_1, \dots, X_k is given by

$$F_{X_1, X_2, \dots, X_k}(a_1, a_2, \dots, a_k) = P\{X_1 \leq a_1, X_2 \leq a_2, \dots, X_k \leq a_k\}. \tag{20}$$

Let

$$T(x_1, x_2, \dots, x_k) = P\{X_1 > x_1, X_2 > x_2, \dots, X_k > x_k\}. \tag{21}$$

For $r_1, r_2, \dots, r_k \in \mathbb{N}$, we have

$$\begin{aligned} E\left[X_1^{r_1} X_2^{r_2} \dots X_k^{r_k}\right] &= \sum_{x_1=0}^{\infty} \sum_{x_2=0}^{\infty} \dots \sum_{x_k=0}^{\infty} x_1^{r_1} x_2^{r_2} \dots x_k^{r_k} p(x_1, x_2, \dots, x_k) \tag{22} \\ &= \sum_{x_1=1}^{\infty} \sum_{x_2=1}^{\infty} \dots \sum_{x_k=1}^{\infty} x_1^{r_1} x_2^{r_2} \dots x_k^{r_k} p(x_1, x_2, \dots, x_k) \\ &= \sum_{x_1=0}^{\infty} \sum_{x_2=0}^{\infty} \dots \sum_{x_k=0}^{\infty} (x_1 + 1)^{r_1} \dots (x_k + 1)^{r_k} p(x_1 + 1, \dots, x_k + 1) \\ &= \sum_{x_1=0}^{\infty} \sum_{x_2=0}^{\infty} \dots \sum_{x_r=0}^{\infty} \sum_{i_1=0}^{x_1} ((i_1 + 1)^{r_1} - i_1^{r_1}) \dots \sum_{i_k=0}^{x_k} ((i_k + 1)^{r_k} - i_k^{r_k}) p(x_1 + 1, \dots, x_k + 1) \\ &= \sum_{i_1=0}^{\infty} \sum_{i_2=0}^{\infty} \dots \sum_{i_k=0}^{\infty} \prod_{j=1}^k ((i_j + 1)^{r_j} - i_j^{r_j}) \sum_{x_1=i_1}^{\infty} \sum_{x_2=i_2}^{\infty} \dots \sum_{x_k=i_k}^{\infty} p(x_1 + 1, x_2 + 1, \dots, x_k + 1) \\ &= \sum_{i_1=0}^{\infty} \sum_{i_2=0}^{\infty} \dots \sum_{i_k=0}^{\infty} \prod_{j=1}^k ((i_j + 1)^{r_j} - i_j^{r_j}) P\{X_1 > i_1, X_2 > i_2, \dots, X_k > i_k\} \\ &= \sum_{i_1=0}^{\infty} \sum_{i_2=0}^{\infty} \dots \sum_{i_k=0}^{\infty} \prod_{j=1}^k ((i_j + 1)^{r_j} - i_j^{r_j}) T(i_1, i_2, \dots, i_k) \\ &= \sum_{x_1=0}^{\infty} \sum_{x_2=0}^{\infty} \dots \sum_{x_k=0}^{\infty} \prod_{j=1}^k ((x_j + 1)^{r_j} - x_j^{r_j}) T(x_1, x_2, \dots, x_k). \end{aligned}$$

Therefore, by (22), we obtain the following theorem.

Theorem 5. *Let r_1, r_2, \dots, r_k be positive integers, and let X_1, X_2, \dots, X_k be discrete non-negative integer-valued random variables. Then the expectation of the monomial $X_1^{r_1} X_2^{r_2} \dots X_k^{r_k}$ is given by*

$$E\left[X_1^{r_1} X_2^{r_2} \dots X_k^{r_k}\right] = \sum_{x_1=0}^{\infty} \sum_{x_2=0}^{\infty} \dots \sum_{x_k=0}^{\infty} \prod_{j=1}^k ((x_j + 1)^{r_j} - x_j^{r_j}) T(x_1, x_2, \dots, x_k),$$

where $T(x_1, x_2, \dots, x_k) = P\{X_1 > x_1, X_2 > x_2, \dots, X_k > x_k\}$.

3. Conclusion

In recent years, many researchers have investigated various stuffs from probabilistic perspectives and obtained quite a few interesting results (see [1–27] and the references therein).

Let X be a discrete nonnegative integer-valued random variable. Then we showed that the r -th degenerate moment of X is given by

$$\begin{aligned} E[(X)_{r,\lambda}] &= \sum_{i=0}^{\infty} \left((i+1)_{r,\lambda} - (i)_{r,\lambda} \right) (1 - F_X(i)) \\ &= \sum_{i=0}^{\infty} \sum_{j=0}^{r-1} \binom{r}{j+1} (i)_{r-1-j,\lambda} (1)_{j+1,\lambda} (1 - F_X(i)). \end{aligned}$$

Let r_1, r_2, \dots, r_k be positive integers, and let X_1, X_2, \dots, X_k be discrete nonnegative integer-valued random variables. Then we proved that the expectation of the monomial $X_1^{r_1} X_2^{r_2} \cdots X_k^{r_k}$ in X_1, X_2, \dots, X_k is given by

$$E[X_1^{r_1} X_2^{r_2} \cdots X_k^{r_k}] = \sum_{x_1=0}^{\infty} \sum_{x_2=0}^{\infty} \cdots \sum_{x_k=0}^{\infty} \prod_{j=1}^k \left((x_j + 1)^{r_j} - x_j^{r_j} \right) T(x_1, x_2, \dots, x_k),$$

where $T(x_1, x_2, \dots, x_k) = P\{X_1 > x_1, X_2 > x_2, \dots, X_k > x_k\}$.

Indeed, we derived this first for $k = 2$ and $r_1 = 1, r_2 = 1$, then for $k = 2$ with r_1, r_2 any positive integers, and finally for the general case of any k and any r_1, r_2, \dots, r_k . Certain interesting applications of these results will be treated in a forthcoming paper.

References

- [1] J. A. Adell and Alberto Lekuona. Explicit expressions for a certain subset of appell polynomials: a probabilistic perspective. *Integers*, 21:Paper No. A60, 10 pp., 2021.
- [2] K. T. Atanassov and B. I. Kolev. On an intuitionistic fuzzy implication from a probabilistic type. *Adv. Stud. Contemp. Math. (Kyungshang)*, 12(1):111–116, 2006.
- [3] V. E. Bening. On the asymptotic deficiency of some statistical estimators based on samples with random size. *Proc. Jangjeon Math. Soc.*, 21(2):185–193, 2018.
- [4] S. Chakraborti, F. Jardim, and E. Epprecht. Higher-order moments using the survival function: the alternative expectation formula. *Amer. Statist.*, 73(2):191–194, 2019.
- [5] L. Chen, T. Kim, D. S. Kim, H. Lee, and S.-H. Lee. Probabilistic degenerate central bell polynomials. *Math. Comput. Model. Dyn. Syst.*, 30(1):523–542, 2024.
- [6] D. S. Kim, H. K. Kim, and T. Kim. New approach to λ -stirling numbers. *AIMS Math.*, 8(12):28322–28333, 2023.

- [7] D. S. Kim and T. Kim. Central factorial numbers associated with sequences of polynomials. *Math. Methods Appl. Sci.*, 46(9):10348–10383, 2023.
- [8] T. Kim and D. S. Kim. Probabilistic degenerate bell polynomials associated with random variables. *Russ. J. Math. Phys.*, 30(4):528–542, 2023.
- [9] T. Kim and D. S. Kim. Explicit formulas for probabilistic multi-poly-bernoulli polynomials and numbers. *Russ. J. Math. Phys.*, 31(3):450–460, 2024.
- [10] T. Kim and D. S. Kim. Generalization of spivey’s recurrence relation. *Russ. J. Math. Phys.*, 31(2):218–226, 2024.
- [11] T. Kim and D. S. Kim. Probabilistic bernoulli and euler polynomials. *Russ. J. Math. Phys.*, 31(1):94–105, 2024.
- [12] T. Kim and D. S. Kim. Some identities on degenerate harmonic and degenerate higher-order harmonic numbers. *Appl. Math. Comput.*, 486:Paper No. 129045, 2025.
- [13] T. Kim, D. S. Kim, and H. K. Kim. On q -derangement numbers and polynomials. *Fractals*, 30(10):Article ID 2240200, 7 pp., 2022.
- [14] T. Kim, D. S. Kim, and H. K. Kim. Generalized degenerate stirling numbers arising from degenerate boson normal ordering. *Appl. Math. Sci. Eng.*, 31(1):2245540, 16 pp., 2023.
- [15] T. Kim, D. S. Kim, and J. Kwon. Probabilistic degenerate stirling polynomials of the second kind and their applications. *Math. Comput. Model. Dyn. Syst.*, 30(1):16–30, 2024.
- [16] T. Kim, D. S. Kim, J. Kwon, and H. Lee. Lerch-harmonic numbers related to lerch transcendent. *Math. Comput. Model. Dyn. Syst.*, 29(1):315–323, 2023.
- [17] L. Luo, T. Kim, D. S. Kim, and Y. Ma. Probabilistic degenerate bernoulli and degenerate euler polynomials. *Math. Comput. Model. Dyn. Syst.*, 30(1):342–363, 2024.
- [18] L. Luo, Y. Ma, T. Kim, and R. Xu. Series involving degenerate harmonic numbers and degenerate stirling numbers. *Appl. Math. Sci. Eng.*, 32(1):Paper No. 2297045, 11 pp., 2024.
- [19] Y. Ma, T. Kim, H. Lee, and D. Kim. Some identities of fully degenerate dowling and fully degenerate bell polynomials arising from λ -umbral calculus. *Fractals*, 30(10):Article no. 2240257, 10 pp., 2022.
- [20] S. Nadarajah and K. Mitov. Product moments of multivariate random vectors. *Comm. Statist. Theory Methods*, 32(1):47–60, 2003.
- [21] J.-W. Park and S.-S. Pyo. A note on degenerate bernoulli polynomials arising from umbral calculus. *Adv. Stud. Contemp. Math. (Kyungshang)*, 32(4):509–525, 2022.

- [22] A. Patra, T. Komatsu, and G. K. Panda. The growth rate of random balancing sequence. *Proc. Jangjeon Math. Soc.*, 23(3):297–304, 2020.
- [23] S. M. Ross. *Introduction to probability models*. Academic Press, London, thirteenth edition, 2024.
- [24] M. Saha and L. Debnath. Random fixed point of mappings over a hilbert space with a probability measure. *Adv. Stud. Contemp. Math. (Kyungshang)*, 18(1):97–104, 2009.
- [25] I. Song and S. Lee. Explicit formulae for product moments of multivariate gaussian random variables. *Statist. Probab. Lett.*, 100:27–34, 2015.
- [26] D. Wang. On the expectation of two dimensional fuzzy random variables with respect to a cone induced order. *Adv. Stud. Contemp. Math. (Kyungshang)*, 7(2):167–178, 2003.
- [27] R. Xu, T. Kim, D. S. Kim, and Y. Ma. Probabilistic degenerate fubini polynomials associated with random variables. *J. Nonlinear Math. Phys.*, 31:Paper No. 47, 18 pp., 2024.